Test writes100

Operation: BasicOperations.Put
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Configuration writes100 requests |errors| latency latency |latency max | RTMat50 | RTMat90 | RTMat95 | RTMat99 |[RTM at99.9] RTMat |histograms
mean std.dev %o %0 %0 %0 % 99.99 %

~ |igroups36| Cluster[default=8] Iteration|, oo, o551 177ms| 338ms| 1 seconds 179ms|  221ms|  239ms|  324ms|  2333ms| 9123 ms| Listosram
0 percentiles
~ |igroupsd2|Cluster[default=8] |Iteration|, o053 40/ 17ms|  154ms  143.65ms 175ms|  2.06ms|  233ms|  3.d5ms|  19.14ms| 6921 ms| Lislogram
0 percentiles
~ [igroups52|Cluster(default=8] Itergtlon 10,292 0]17.98 seconds| 5.9 seconds|24.16 seconds|20.13 seconds|20.13 seconds|20.13 seconds|20.27 seconds|24.16 seconds|24.16 seconds II%;%ET?S
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